Multiplying by Powers of Ten

Multiplying by 1/10¹

340 x	10 -1	=	770 x	10 -1 =
500 x	10 -1	=	190 x	10 -1 =
790 x	10 -1	=	5,600 x	10 -1 =
320 x	10 -1	=	950 x	10 -1 =
550 x	10 -1	=	480 x	10 -1 =
5,300 x	10 -1	=	310 x	10 -1 =
1,000 x	10 -1	=	40,000 x	10 -1 =
69,000 x	10 -1	=	99,000 x	10 -1 =
190 x	10 -1	=	150 x	10 -1 =
7,600 x	10 -1	=	410 x	10 -1 =
6,100 x	10 -1	=	320 x	10 -1 =
41,000 x	10 -1	=	49,000 x	10 -1 =
8,500 x	10 -1	=	7,800 x	10 -1 =

Multiplying by Powers of Ten Answers

Multiplying by 1/10¹

340 x	10 -1 =	: 34	770 x	10 -1 =	77
500 x	10 -1 =	: 50	190 x	10 -1 =	19
790 x	10 -1 =	: 79	5,600 x	10 -1 =	560
320 x	10 -1 =	: 32	950 x	10 -1 =	95
550 x	10 -1 =	: 55	480 x	10 -1 =	48
5,300 x	10 -1 =	530	310 x	10 -1 =	31
1,000 x	10 -1 =	: 100	40,000 x	10 -1 =	4,000
69,000 x	10 -1 =	6,900	99,000 x	10 -1 =	9,900
190 x	10 -1 =	: 19	150 x	10 -1 =	15
7,600 x	10 -1 =	760	410 x	10 -1 =	41
6,100 x	10 -1 =	610	320 x	10 -1 =	32
41,000 x	10 -1 =	4,100	49,000 x	10 -1 =	4,900
8,500 x	10 -1 =	850	7,800 x	10 -1 =	780

Multiplying by Powers of Ten

Multiplying by 0.1

340 x	0.1	=	770 x	0.1	=
500 x	0.1	=	190 x	0.1	=
790 x	0.1	=	5,600 x	0.1	=
320 x	0.1	=	950 x	0.1	=
550 x	0.1	=	480 x	0.1	=
5,300 x	0.1	=	310 x	0.1	=
1,000 x	0.1	=	40,000 x	0.1	=
69,000 x	0.1	=	99,000 x	0.1	=
190 x	0.1	=	150 x	0.1	=
7,600 x	0.1	=	410 x	0.1	=
6,100 x	0.1	=	320 x	0.1	=
41,000 x	0.1	=	49,000 x	0.1	=
8,500 x	0.1	=	7,800 x	0.1	=

Multiplying by Powers of Ten Answers

Multiplying by 0.1

340 x	0.1	=	34	770 x	0.1	=	77
500 x	0.1	=	50	190 x	0.1	=	19
790 x	0.1	=	79	5,600 x	0.1	=	560
320 x	0.1	=	32	950 x	0.1	=	95
550 x	0.1	=	55	480 x	0.1	=	48
5,300 x	0.1	=	530	310 x	0.1	=	31
1,000 x	0.1	=	100	40,000 x	0.1	=	4,000
69,000 x	0.1	=	6,900	99,000 x	0.1	=	9,900
190 x	0.1	=	19	150 x	0.1	=	15
7,600 x	0.1	=	760	410 x	0.1	=	41
6,100 x	0.1	=	610	320 x	0.1	=	32
41,000 x	0.1	=	4,100	49,000 x	0.1	=	4,900
8,500 x	0.1	=	850	7,800 x	0.1	=	780